The Cosine Curve
The next sinusoidal curve to explore is that of y = cosx. 

The table of values for y = cosx is:

	X
	00
	900
	1800
	2700
	3600

	Y
	1
	0
	-1
	0
	1


Notice that the y-values of the five critical points are different than those of y = sinx.

The graph of y = cosx:
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The parts of the curve, the transformations of y = cosx, writing a mapping rule and creating a table of values are all done in the same format as those of y = sinx. 
Example 4: 

For each of the following equations, write a mapping rule, create a table of values and sketch the graph.

Note: These are the same equations used in Example 3 with the function being the only 

          change. 
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These mapping rules can now be used to create a table of values. List the original values of x and y and then apply the mapping rule to generate the new values. The x-values are the same for both y = sinx and y = cosx. Notice that the y-values are different.
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